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Science| | Deepmani Bhardwaj | | Use Code- Y723 for Max Discount

Q. Which cell is called ‘the master of the cell’?
(a) Endoplasmic reticulum

(b) Mitochondria

(c) Nucleolus

(d) Nucleus
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Annu Singh 7 hours ago Payash Kumari 7 hours ago
Option d . 2 Hw ans option D ..... nucleus...Tq sir for this nyc session ¥

All the metabolic functions of the cell are coordinated by the nucleus. It is also called Y N
the master of the cell.

Deepmani 1 second ago
e GF  Reply o
Absolutely correct & Payash and thanks stay connected

fy CA Reply
Absolutely correct & Annu

05 GF  Reply 0 VARSHA KUMARI 7 hours ago

Option d is right answer Nucleus... Thankuu sir @

oy
' Shantanu Kumar 5 hours ago
@1 ’ e 5 Repy

Option - D, Thank you sir @
Reol o Deepmani 1 second ago
15
e o Py Absolutely correct & Varsha and thanks stay connected
Deepmani 0 seconds ago

05 CH  Reply
Absolutely correct & Shantanu

05 CH Reply l Rupom Gagoi 3 hours ago

Nucleus is the right answer @ ¥ option D

Babita Kumari 7 hours ago
e ’ e GF  Reoly

Options -(d)....... Nucleus .... Thank you so much sir Jiy Ju o's s's os sis oa se sa @ @
vveewewew o Deepmani 0 seconds ago

a . —n - . Absolutely correct = Rupom
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SHIVAM KUMARIn 7 hours ago

Sir jo sabko control kre wo master hota hai , is hisab se nucleus should be the right

answer 120
Nucleus ™0

|‘ 'r‘.!_/l] Reply

Deepmani 1 second ago

Absolutely correct & Shivam shi logic lagaya h great
f5 CR Reply

Amit Kumar 7 hours ago

D= nucleus

e G Reply

Deepmani 0 seconds ago

Absolutely correct & Amit
05 CI  Reply

OMNANYA 7 hours ago

Ans is Option D
Mucleus is called the Master of cell .

The nucleus is like the remote control center of the cell &

sachin Biradar 3 hours ago

Ans :D (nucleus) All activity control of cell control by nucleus.
Sir aapki class live nahi dekh raha hu meri exam hai MPSC ki Sunday ko isliye baad mai
dekhta hu speed increase karke '= _

|‘ gﬂ Reply

Deepmani 1 second ago

Absolutely correct & Sachin and sure all the very best for your exam dear
05 CH  Reply

Tannu Kumari 2 hours ago

Option -D nucleus

e G Reply

Deepmani 0 seconds ago

Absolutely correct & Tannu

Ritika Pravakar 5 hours ago

MNucleus is called the master of the cell.

It is the most prominent and important organelle of the cell as it controls and manages
all the functions of the cell.

Master of the cell” a status given to the nucleus for a good reason, as the nucleus is the
most prominent and important cell organelle, the role of which is indispensable for all
eukaryotic cells. Among other things, the nucleus contains the DNA, a "blueprint” for all
cell functions.

Show less
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Deepmani 1 second ago

Absolutely correct & Ritika and good explanation
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Nucleus cell % %
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Deepmani 1 second ago

Absolutely correct @ K.PS
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Deepak Kumar & hours ago
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Mucleus is called the master of yhe cell.
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Q. Which cell is called ‘the master of the cell’?
(a) Endoplasmic reticulum

(b) Mitochondria

(c) Nucleolus

(d) Nucleus
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Q. Which is the largest cell organelle present in a cell?

(a) Endoplasmic reticulum

(b) Nucleus

(c) Golgi bodies

(d) Mitochondria RRB JE 23.05.2019 (Shift-III)

7. FIfAFT H 3uFTUT gaq I371 FfAFer FeT AT T ?

() wSrcarfoas Wewaw

() fds

(HY) M3t Fpra

(3Y) ASFIT=3AT RRB JE 23.05.2019 (Shift-111)
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Q. Which is the largest cell organelle present in a cell?
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(b) Nucleus
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Adda

Q. Which of the following organelles is called ‘protein factories of the cell’?
(a) Chloroplast
(b) Lysosomes
(c) Mitochondria
(d) Ribosomes

e
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() aTsENEE

=R

(&) ASHT
(3 Ra\=

~




Science| | Deepmani Bhardwaj | | Use Code- Y723 for Max Discount
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Q. Solder is an alloy of :

(a) Lead and tin

(b) Iron and lead

(c) Copper and tin

(d) Copper and aluminium

¥. HiesT RS §

(v) dar 3R fear

() aer 3k

(H) arer iR e

(3 arer AR TegAfATH

[RRB JE 22 May 2019 Shift 1]

[RRB JE 22 May 2019 Shift 1]
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Q. When two or more resistances are connected between the same two points,
they are said to be connected in :

(a) Across

(b) Series

(c) Parallel

(d) Line [RRB JE 22 May 2019 Shift 1]

9. SI9 ar 41 ar § HfAw iy v & Y Mgyt & v 2 o §, O 3% 3
g§C gl SATar P

(T) & IR

() e

(&) FHAEATR

(3) E@T [RRB JE 22 May 2019 Shift 1]
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Q. When two or more resistances are connected between the same two points,
they are said to be connected in :

(a) Across

(b) Series

(c) Parallel

(d) Line IRRB JE 22 May 2019 Shift 1]

9. SI9 ar 41 ar § HfAw iy v & Y Mgyt & v 2 o §, O 3% 3
g§C gl SATar P

(T) & IR

() e

(&) FHAEATR

(3) E@T [RRB JE 22 May 2019 Shift 1]



Science| | Deepmani Bhardwaj | | Use Code- Y723 for Max piscount Adda 24

Q. The substance that is usually lost by the body during dehydration is:

(a) Sodium chloride

(b) Sugar

(c) Potassium chloride

(d) Calcium Phosphate [RRB JE 22 May 2019 Shift 1]

g. fastelleor & R R @RT 3MHAR W @1 9= arelr 9erd @

(v) AfeaH FaRISS

(&) =

(&) grRefaa FarEs

(3) FfewraHT BrEdbe [RRB JE 22 May 2019 Shift 1]



Science| | Deepmani Bhardwaj | | Use Code- Y723 for Max piscount Adda 24

Q. The substance that is usually lost by the body during dehydration is:

(a) Sodium chloride

(b) Sugar

(c) Potassium chloride

(d) Calcium Phosphate [RRB JE 22 May 2019 Shift 1]

g. fastelleor & R R @RT 3MHAR W @1 9= arelr 9erd @

(v) AfeaH FaRISS

(&) =

(&) grRefaa FarEs

(3) FfewraHT BrEdbe [RRB JE 22 May 2019 Shift 1]



Science| | Deepmani Bhardwaj | | Use Code- Y723 for Max Discount Adda 247

Q. The underground water due to the hot rocks present inside the Earth
which can turn the turbines of generator to produce electricity.

(a) Turns to ice

(b) Turns to steam at high pressure

(c) Cools down

(d) Flows out IRRB JE 22 May 2019 Shift 1]
¥. g2t & I3 AlSg 7 GCeEl F FROT HANT I S farel

3cqTeA & fAT Seex #T Talger 1 AT Wha ol

(T) ¥ & S¢of ST &

(f) 39 ga9 W AT F dG ST §

(dY) 331 8 STaT §

() sgar & [RRB JE 22 May 2019 Shift 1]
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Q. Which of the following elements is known as the eka-boron?

(a) Silicon

(b) Gallium

(c) Aluminium

(d) Scandium [RRB JE 22 May 2019 Shift 1]

y. Arafaf@ad 7 9 9 dcg # sH-aRId & AT I ST SATdT 872

(v) Rfese

cHEIGEL]

() TegAfeTH

(3) Thizae [RRB JE 22 May 2019 Shift 1]
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Q. Which of the following elements is known as the eka-boron?

(a) Silicon
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Q. Blood circulates from arteries to veins through microscopic vessels known as:
(a) Corpuscles

(b) Cells

(c) Capillaries

(d) Calories [RRB JE 22 May 2019 Shift 1]

g &d gAfadr ¥ Rt & gaw affeEt & aegw & aRanfaa @ar @ o
gl AT §:

(T) SIIHFA

() a«

(H) HfAFTT

(3) Fard [RRB JE 22 May 2019 Shift 1]
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Q. Blood circulates from arteries to veins through microscopic vessels known as:
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Q. The scientific name of modern man is:

(a) Homo habillis

(b) Homo sapiens

(c) Homo neanderthalensis

(d) Homo erectus [RRB JE 22 May 2019 Shift 1]

¥. 3MYfAF AT &1 dAMAF ATH ¢

() g dRfaw

(&) g AT

GURLIRGLELO CIEE]

(3 AT NFeH [RRB JE 22 May 2019 Shift 1]
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Q. When brake is applied in a bicycle, the brake pad touches the wheel. Now what
stops the movement of the wheel?
(a) The friction between the pad and the rim
(b) The brake pad falls down due to gravity and stops movement
(c) The magnetic force between the pad and the rim
(d) The electrostatic force between the pad and the rim
[RRB JE 22 May 2019 Shift 1]

Y. S AEfhe A 9F OR—T ST ¢ Y 9 U3 9fgw F gar ¢ 39 gfew Fr afq @
4T VT &7

(v) 5 3k R&T & &= =vor

() IFcarpyor F FRT 9 U3 AT X Far § 3R eiad g FT AT @

@) ¥5 3t Rer & g gadT T

@) ¥z 3k RA & g sAFeaedfes ao [RRB JE 22 May 2019 Shift 1]
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Q. In which natural phenomenon is static electricity involved?

(a) Lightning

(b) Rain

(c) Twister

(d) Hail storm [RRB JE 22 May 2019 Shift 1]

¥. PR fagyga fFa ypfas aReeer & anfaer 872

(T) fesrell

(&) sTieer

(1) glawey

(31) 3femgiee [RRB JE 22 May 2019 Shift 1]
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Q. In universal indicators, a pH of 4 to 5 indicates::

(a) Strong alkalis

(b) Weak acids

(c) Weak alkalis

(d) Strong acids [RRB JE 22 May 2019 Shift 1]

v. GO dhdal &, 4 9 5 &1 fivg g #dr &

(V) A &R

() FHASR TR

(HY) FAAR &R

(3 AT TS [RRB JE 22 May 2019 Shift 1]
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Q. What is the full form of SONAR?
(a) Sound in Navy and in Receivers
(b) Sound Navigation and Ranging

(c) Sound Not in Aircraft Range
(d) Sound Navigation and Receiving [RRB JE 22 May 2019 Shift 1]

9. IR T Bl BIA FIAT BT 87

(v) sitdem st Reftaw F eafay

() eafa afgaerer ik ST

(@) eafer AT 3o & a8 §

() eafa AfREras 3 9T FI [RRB JE 22 May 2019 Shift 1]
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Q. What is the full form of SONAR?
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Q. Which of the following creatures does NOT usually lay eggs in its own nest?

(a) Sparrow

(b) Cuckoo

(c) Parrot

(d) Pigeon [RRB JE 22 May 2019 Shift 1]

y. Arafaf@a & @ si9 a1 g 3maalk W 39a 9i9s & 378 780 a1 g7

() =

(&) I

(&) arar

(31) FER [RRB JE 22 May 2019 Shift 1]
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Q. Under which of the following conditions can we boil water at room
temperature?

(a) At atmospheric pressure

(b) At very high pressure

(c) At low pressure

(d) At high pressure IRRB JE 22 May 2019 Shift 1]

y. Aeafaf@a & ¥ g ufd & g7 #a7 & dvA W g6l 391 99d 87
(T) AT gard W

() 9gd 39 G99 W

(H) F7 galT T

(3) 3= AT W [RRB JE 22 May 2019 Shift 1]
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Q. Under which of the following conditions can we boil water at room
temperature?

(a) At atmospheric pressure

(b) At very high pressure

(c) At low pressure

(d) At high pressure IRRB JE 22 May 2019 Shift 1]
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Q. Name the pigment that gives plants their green colour.
(a) Carotenoid

(b) Chlorophyll

(c) Thiamin

(d) Actin

q. 39 quie &1 JF Af@v Y gl &1 g7 [T 9T F:aT ¢
(T) HANEATIS

(&) FARIB

GURER LG

() vfFea

Adda

e
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Q. Name the pigment that gives plants their green colour.
(a) Carotenoid

(b) Chlorophyll

(c) Thiamin

(d) Actin
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Q. Complex carbohydrates that make up cell wall in plants are called :
(a) Maltose

(b) Cellulose

(c) Sucrose
(d) Lactose RRB JE 02.06.2019 (Shift-II)

y. afee FefeEie it gl F 1R B o § Feaa §

(T) AT

CUKEGIE]

GUR;EIE

(3) s RRB JE 02.06.2019 (Shift-II)
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Q. Which fluid carries absorbed fat from intestine and drains excess fluid from
extra cellular space back into the blood?

(a) Platelets

(b) Capillaries

(c) Plasma

(d) Lymph

Y. &l 9T R Sy Hal @ T8/ ) TN« T Far § 3R wfaRea oo g
B 9T FIfART TAT T I9T Fd A S ST 82

(T) Tolceled

() FfAwT

GURGIEZI

CHRGEIED
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Q. Which of the fat-accumulating tissue in our body?
(a) Epithelial tissue

(b) Vascular tissue

(c) Areolar tissue

(d) Adipose tissue

9. AR R H Gl FTAT FIA dTell Fdd i AT 872
(T) 39hell Fdh

() Hager Fae

(&) TR3teR Fa+

(3) TAT FaF
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Q. Which of the following is not a type of animal tissue?
(a) Meristematic tissue

(b) Epithelial tissue

(c) Muscular tissue

(d) Connective tissue

v. fAeafaf@a F & i a1 93 FAF FT THR TqET 87
(v) ARTEAfew Fa=

CUEREGIEGED

GUREIREGED

(3) TS FdR
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(c) Muscular tissue

(d) Connective tissue
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Q. Blood is a type of
(a) Muscular

(b) Neural

(c) Connective

(d) Epithelial
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